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1. fraffes % ¥ fre fade & S ot FiE

Sl % qReEl ) us weEeen e F

Tt SRR (overlord) % freq @mad H7

(@ TR [EELS (Rampa Rebellion),
1879-1880

) % &% (Gudem Uprising), 1886

© vm fa®  (Rampa Rebellion),
1922-1924

(d) T ATH ¥uy (Telangana Armed
Struggle), 1946-1951

2. f@ 30 3 FIFA fau o (J09) T T &
<fan 27

(a) CErcl

(b) TSI

(c) %™

@ ¥

3. @ A ¥R W sm, s I

(City of Joy) 1 G &7

(@) &t Fifad (Larry Collins)

(b) ZififA® AR (Dominique Lapierre)
(c) %=are f#afam (Rudyard Kipling)

(d) W Zefl (Mark Tully)

4. T A R i ghwm Af

(Entrepreneurial Vision category) W
wgw g WAEw FEFR F a6 2022 e
% 11 BT | &R (Champions of the
Earth Award) & 801fa o mpy 27

(a) TN HE
(b) AfHE AW

(c) qforan el @Hq
(d) afared TEHE
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5. Wi | G20 dwasa @i fw-ag Tgha

ggawy a T A-TF FgE-uE e’
el @ oft g ®7

(@) wETg
(b) wET-39Fg
() Fz
(d). wgf

6. S gg oM cEER-Ud AREm A

R -7 AT G WO AT HT 164

TR g, 2022 § A A 9T TR
(Nepal Army Battle School), gewdt ®

;Trq‘r%m fown T A1) W A H AW R
?

(@) G
(b) fmwhE
(c) T& AT™

(@ TR

7. TR fRe weg @9 (GMT) § 10:00 am. &,
A 90° E Wi W F1 THA QMY

(a) 5:00 a.m.
(b) 4:00 a.m.
(c) 3:00 p.m.

(d) 4:00 p.m.



1. 1 i i
n which one of the following revolts 5. The theme of India’s G20 Presidency

gild the _Koya and Konda tribal chiefs vasudhaiva Kutumbakam’ or ‘One
S€¢ against the local overlord from Earth-One Family-One Future’ is drawn
a Mansabdar family? from the

(a) The Rampa Rebellion 1879-1880 Purana
’
(a) Maha

(b) The Gudem Uprising, 1886

ishad
() The Rampa Rebellion, 1922-1924 (b) Maha Upanisha

(d) The Telangana Armed Struggle, (c) Rig Veda

1946-1951
(d) Smriti

2. Which country won the FIFA World Cup

(Men) for maximum number of times?
6. The 16th edition of Indo-Nepal annual

(a) Argentina joint training exercise in jungle warfare
(b) Brazil and _counterterrorism operations was
held in December 2022 at Nepal Army

Battle School, Saljhandi. What is the

(c) France
name of this exercise?

(d) Spain
(a) Sampriti
3. Who among the following is the author of
the famous novel, City of Joy ? (b)) Mitra Shakti

li
(a) Larry Collins | .
(b) Dominique Lapierre

d) Surya Ki
(c) Rudyard Kipling (d) ry ran,

(d) Mark Tully
7. If it is 10:00 a.m. at Greenwich Mean

owing 1o honoured Time (GMT), then what will be the time
with the UN Environment Programme’s at 90° E longitude?

2022 Champions of the Earth Award in
the Entrcpreneun’a] Vision category? @ 5:00 am.

4. Who among the foll

(a) Ela Bhatt () 4:00 a.m.
(b) Amit Dasgupta o 300
: p.m.
(c) Purnima Devi Barman
d .
(d) Vanshika Parmar (d) 4:00 p.m.
> [ P.T.O.
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9. %@ﬁﬂm%mﬁmmﬁm
fom HHf -
1. ammmmm%mm

sraral & & 8
) e # e, W 3 A

3. 7 el 7 v A R A
i it forn 1 A €1

A T favael ¥ AUR W R H TR
TEaTHT |

fa) @ (Alluvial)
(b) UE (Laterite)
fc) I (Arid)

(d) &l (Black)

JNBY-D-GNL/59C

Fl
) Z%nl

m%l ' F 3,

(c) 3T F wh

mm%%mwz’mw

(d) ZF TR T & g o o, ¢
AT 8 Fel §

11. Ty 7 Sfte 0 fowam e 7 27

(@) W@, 9 3 s, fmm w
LEIC]

(b) ErE, 7 iR T, G, g

(c) @, s ot Fwl, e,
TERYT

(@) e, e sh e,



8. \\"hich of the following groups of planets

Planets’ g5 they are
clom‘posed priman‘ly of lightey yice&;
liquids ang gases? ,

(d) Neptune, Satum, Mars, Uranus

9. Consider the following characteristics of
a soil type :

1. These soils consist of various
Proportions of sand, silt and clay,

2. These soils contain adequate
proportions of potash, phosphoric
acid and lime. '

3. These soils can be further classified
on the basis of their age.

Identify the type of soil on the basis of
the given characteristics.

(a) Alluvial
(b) Laterite.
(c) Arid

(d) Black

\BY-D-GNL/59C

10. Consider the following statements and

identify the correct answer using the
code given below :

1. In a thermal power station, fuels
such as oil, coal or natural gas are
used to generate electricity.

2. Fuels are burned to heat water and
turn it into steam, which goes
through a turbine, which spins and
turns, generating electricity.

Code :

(@) Statement 1 is correct but
statement 2 is not correct

(b) Statement 2 is  correct but
statement 1 is not correct

(c) Both the statements are
correct and statement 2 explains
statement 1

(d) Both the statements are correct
but statement 2 does not explain
statement 1

11. Indus river basin is extended up to

(a) Ladakh, Jammu ang Kashmir,
Himachal Pradesh, Punjab

(b), .Ladakh, Jammuy and Kashmir,
Punjab, Haryana

(c) Ladakh, Jammu and Kashmir,
Punjab, Haryana, Rajasthan

(d) Ladakh, Jammu and Kashmir,
Himachal Pradesh, Punjab,
Haryana, Rajasthan

[P.T.O.



12, W@ % wgaEfa (SG) ® !:'siﬂ 3
frfifed 3 @ 9-w o T8 T 1

(@ SGI, waR &1 g faf wemeHn
H

@) sal, 2 @ fdaw fafy st
H

() SGI F & T FifauTie w R |

(@ whvea f fgfs @fa g sal =
fage o T @1

13. Fefofed & 3 fra afify 3§ 79 an A v
T € 87

(@ F w@ aify
(b) TR IUsEH-Gaeh iy
(c) YTEeH amfy

() SRR S o srgafm R %
FA-gae) gy

14. m%nm%ﬁam%mﬁﬁﬂ%mﬁ
AN T R T

(@) T ¥ 0, Ty et Y
I TE g

T8 A Rum-gne ¥ fatfm
mm%mmm

(c) Trata® ™ A Fyurf g % Faif

(d) THA wEAE  wg U

JNBY-D-GNL/59C

16. iy (NITY) s gmy

(@ 14 s, 1947

) % srm, faeh
R S
Rliciis (household) % w; w5
e 37e9-ifyg (undemourished];
RREIE G

153&34‘11493&%;%@%%

RSRCSEE p— =
(body mass index) 185 kg/m?:
F R

& (MPI
(household) £

1.

7
Wi

ﬁ‘ﬁwa@mmmmmgﬁq,
(@) a1

(b) Fae 2
(¢) 13K 22t
(d @ 1dRIH 2

17. TaTSREY (Rayagajakesari)

TS (Dayagajakesari) i 3
freferfiaa # & frm o @ dag off?

(a) TR
(b) fasEIR
(¢) T
(d) TEFe



12. Which one of the following statements
about. the Solicitor General
(SGJ) is not correct?
(@ The SGI is the G

legal advisor.

of India

overnment’s chief

(b) The SGI is the secondary law officer

of the country.

(c) The post  of the S@GI
& constitutional post.

(d) The SGI is appointed by the

Appointments Committee of the
Cabinet.

is

13. Which one of the following committees
does not have members from the
Rajya Sabha?

(@) The Public Accounts Committee

(b) The Committee on Public
Undertakings

(c) The Estimates Committee

(d) The Committee on the Welfare of

Scheduled Castes and Scheduled
Tribes

14. Which one of the following statements
about the election of the President of
India is not correct?

(a) A Union Minister shall not be
eligible for election as the
President.

(b) The President is elected by the
elected members of the Parliament
and the Legislative Assemblies of
States and Union Territories.

(c) The Electoral College does not
include elected members of the

Legislative Councils.

(d) The  system of proporti'onal
representation by means of single
transferable vote is followed.

JNBY-D-GNL/59C

17. The titles of

15. The Citizenship Act, 1955 deals with the

determination of citizenship on or after
(a) 26th January, 1950

(b) 26th November, 1949

(c) 15th August, 1947

(d) 14th August, 1947.

16. According to the National Multi-

dimensional Poverty Index (MPI)
constructed by the NITI Aayog,
a household is considered deprived if

1. a single niember of the household
is identified as under-nourished

2. the body mass index of a woman
member, between 15 years
and 49 years of age, is below
185 kg/m?2

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

‘ es ‘Rayagajakesari’ and
Dayagajakesari’ were associated with
which one of the following dynasties?

(@) Kakatiya
(b) Vijayanagara
(¢) Gajapati

(d) Rashtrakuta

[ P.T.O.
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1s.aﬁmmmcmﬁwwmmﬁ 21. S B § RNA Fal e
M%%H%WWW%QWWH@ Fererem 2
%Waﬁm&mﬁ@%wﬁmm PR S -

EREY

(@) TR (Ennayiram)

(b) IFTEW (Uttaramerur) AR 37
(c) fy@mTem (Siyyamangalam) | (d) ?:{a_.‘, 3R ’ .

(d) @gﬁwﬁ (Kudumiyamalai)

22. I8 #, @t fOTIF  (intercalan
19. ERedl WA ¥ wRd & wed #H, ‘T meristem) HIHIIG: &l W flm g 37
(Dastak)’ 1 €17

(@) T
v (b) T % e
(b) ¥R TEES —
o T (d) 8-

(d) FE (textiles) T H

23. Nyt ¥ TG F FeAYE oM F g TEEH F
TR 1 R S el ¥ Frafafd # F

20. freead A @ FA-W, gow: T’ w0 FF-T geH Sk Sffag BRES §

Hag 417

Bar 87
v (@) aTfefel (Tracheid)
(b) 3<

(b) aTfe (Vessel)

(c) gerfaifgl (officials) &) YTde (c) e Jgdsh (Xylem parenchyma)

“ - (d) STECH $IER (Xylem fibre)

JNBY-D-GNL/59C



19,

(@) Ennayiram
(b) Uttaramerur
(c) Siyyamangalam

(d) Kudumiyamalaj

22. In grasses,

In the context of eighteenth century
India, what was ‘Dastak’?

(a) Signature ]
(b) Land document.
(c) Trade permit

Tax on textiles

(d)

21.

In plant cells, RNA is present in

(a) cytoplasm only

nuclei and cytoplasm only

(b)

() nuclei, cytoplasm, mitochondria,
chloroplast and endoplasmic
reticulum

(d) nuclei, cytoplasm, mitochondria,

chloroplast and ribosomes

intercalary meristem is
usually located at

(a) root tip
(b) lateral sides of stem
(c) base of leaves,

(d) shoot tip

23. Xylem is a type of complex tissue in

20. Which one of the following was primarily

associated with ‘Dadni’ system?

Textile production

(@)
(b) Warfare

Payment to officials

(c)

Revenue collection

(@)

JNBY-D-GNL/59C

plants for upward conduction of water.
Which one of the following xylem tissues
consists of living cells?

(a) Tracheid

(b) Vessel

(c) Xylem parenchyma

(d) Xylem fibre

[ P.T.O.



24, 11 Q 22 Q 3 33 @ Wiy at
s wd wf| ¥ e g oy
foras sus R?

(@ 66 Q
(b) 22 Q
(c) 12 Q
(d 6 Q

25. WRdA W faga-smld 7 9@ g ar
(red live wire) 3R # SEEH R (black
neutral wire) % d9 rm.s. fEm®
(potential difference) feream &an &7
(@)

(b) 220 V

160 V

() 300V

(d) 410 V

26. TESSA W R PHEW a9 wEm: R W
i B1a 87

(@) R dem R faEeA
(b) To@ea iR aEiiveRa deem
(c) v fa@ea v gemm
(d) HadE geaa R faEeA

27. A ¥ gEm 90
(@) a8 AR st{eed i srpvey A @
(b) g H wHE: TITEY AR IR A §
(c) a7y T EHl s Bl §
(d) a2 Ay Ad @

JNBY-D-GNL/59C
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28. 12 m/s %l 9@ @ 7 W @ F FX F AF
AT R IGH =6l 3§ 6 m/s? F1 457 21 2
% TN F 91E FR T h T 2 s F G

ol R | 9F TR F &% FR FW @ AT g
Forertt 27

(@) 12 m
(b) 24 m
(c) 36 m
(d 48 m

29. - YFR & AFTHF H TEEAF
oo o1 87
(@) EfETH TESSHA HEHE IR TeHNH
ArA H1 =

() Wiegn FEHe IR FeRRF A H
RIS

(c) oA TEATFES 3R ToHNF 3T Al
|

(d) Afeam e 3R ol T H
RIS

30. F=fafad wuAl w famm hifs .

Hifsa Agles 3t & B ® qFHd FQ T
1. [H;0"] 3T™HT % |EV/HE (volume) |
e B @

2. wifxd oA W oI oR-+R freman =nfee
3. & # ard MR- fremn =nfey
I9YE W AV PH-91/RE-Q FoF G /7
(@ 1,23R3

(b) Fad 1 3R 2

(c) *ad 3

(d) ¥ad 2 3R 3



of rGSiStanc
cs
andl 33 Q a Connect q 11 Q, 22 Q
Their equiv e

28. A car moving with a speed of 12 m/s
Tesistan " Paralle], is subjected to brakes which produces
¢S equal to i f6 m/s?. The car takes
(@ 66 Q a deceleration o m/s“. The

2s to stop after the
) 22 q |

application of
brakes. What is the di

stance covered
by the car after the application of-
© 12 g brakes?
- @) 6 g @ 12m
' b) 24
( _/) m
(c) 36 m
25. Th; "MS. potentiq Uifference pogyyeq (d) 48 m
‘t eI rZ‘.’ live wire and black Neutral wira
in In, : .
‘on domestic electric Supply is 29. What is the chemical composition of
(@ 160 AV , a soda-acid type fire extinguisher?
(@). Solution of sodium hydrogen
(b) 220 V, ' carbonate and sulfuric acid,
(c) 300 v

(b) Solution of sodium ¢

arbonate and
sulfuric aciq

(d) 410 v

(c) Solution of carbon

dioxide and
sulfuric aciq

26. The hydrogen bo

mb and the uranium
bomb are based,

(d) Solution of sodium
respectively on

chloride and
sulfuric aciq

(@) nuclear fusion and fission 30. Consider the following statements -
While dilutin
solution
(c) geothermal fission and fusion 1

(b) fission and thermonuclear fusion g concentrated nitric acid

the concentration of [H307] ions/
(d) geothermal fusion and fission

volume increases

2. water must be addeq slowly tq
concentrated aciq
: re
27. Sound and light waves a 3. acid must be added slowly to water
(@) respectively  longitudinal  and Which of the state
transverse in air

ments giyven above
is/are correct?
(b) respectively transverse and (@ 1,2 and 3"
longitudinal in air. ) 1 and 2 ol
(c) 3 only

. . (d) 2 and 3 Only :
(d) both transverse in air

(c) both longitudinal in air

11
JNBY-D-GNL/59C
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3 2
ALY ¥ H &1 48l %1 34. Fe,0, # fiy
31. Ry m yemw e p ud ¥ Frefafaa 4, F # vt BiF !

| frefifias & @ #9-2 P T 87
ﬁﬂ%‘wm%? 1 %‘mﬂm’%mﬂm%l
(@ P8 < 717 < e it e < 2. I T A AT 3

. foran < R
) e st Wi < T < B < A 3. g g SR B %
L w1 Fd 2
© TH W < < Fh < frew onlw 4. sl A Tl w R pe o
it T £ :
@ T H @ < TR < < feg 1w ﬁ@mwﬁmmﬂﬁmﬁﬁm
(@ 13k2
32.%%%@%13?@@34“ ‘
w8 & | (b) 133
a i gerieh 2l
(@) T Ygfifm 9 damon SRR s 3
(b) m,mmmw
q@&ﬁaﬁﬁﬁm%mmmél @ 1shq
) == tghfm e e ? ok
mmmmmﬁ?ﬁ%l

(d) %mmﬁmﬁmm 35. T 3 oy fit @ R N (Stewart

Island), 3 3% (Bay of Plenty) six

TF 3 (Hawke Bay)%m%a&ﬁaam
33. Wi i FIA A (vellow sooty ﬁﬁﬁm%mwmﬁm?
name)%mum%tmm%
(a) Wﬁm@maﬂmmm% (@) Fre
(c) mﬁ%mmg
(c) e
(@) TR R oy A
LN RS ey
(d) e
INBY-D-GNL /590
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IOVYing is the correct
€ given Substancegp

(@  Coffee < Lemon i
on juice :

Magnesia « Blood < Milk of
®) Mik of m

agnesia < Bjoq
< Lemon

N d < Coffee
Juice ¢

(c) Lemon Juice < Blood < Coffee < Milk
of magnesia \y

(d) Lemon Juice < Coffee < Blood < Mik
of magnesia -

(@ 1t makes
resistant,

(b) Metals like aluminium, titanium
and magnesium can be anodizeq,

(c) Clean aluminjum article is the

anode and OXygen gas is evolved at
the cathode.

(d 1t is gsed in aircraft industry,
33. Naphthalene burns with a yellow sooty

flame. This is because

(a) carbon to hydrogen ratio is low

(b) there is incomplete combustion

(c) there is excess supply of air

(d) of presence of impurities of
nitrogen and sulfur

INBY-D-GNL/59C

34. Which of the following statements are
true for the reaction of Fe,0,; with
aluminium?

[

It is known as the ‘thermite
reaction’,

2., The heat evolved is used for
welding purpose.

3. Aluminium metal acts as an
oxidizing agent.

4. Molten Fe and Al are formed at the
end of the reaction.

Select the correct answer using the code
- given below.

(@ 1 and 2,
(b) 1 and 3
(c) 2 and 4

(d) 1 and 4

(a) Canada
(b) Australia
(¢) New Zealand

(d) Irelang

[P.T.0,




36. Wi Rl § wh P e feowa wel ® 39. G-l N g1 ¥ ww gifea A o

W FR ) A T @R | TR WA W gt F 4R Ry m gz w1 A A
(@) T fen, ga MR, SRR
-1 i1
(b) @ feen, 3w e, Fg@ R (R==) (arfrm)
| A. fag amdyfy fem 1. 29 e
() S e, Y0 R, T R B. ¥y = Rew 2. 22 @
D. JmigE wrg yedt Rgw 4. 22 9N
F2:

37. 3R X ufim  d N IR @ R, A ™A
F T W O vl = 9l 3w T ame @ A B C D

(@) TATRS, SR, IR, T ) A B C D

(b) AT, FER, T, STOAR
) A B C D
4

(c) FHR, TATRS, VAR, T
d A B C D
(d) FER, TARE, T, TR 2 4

'40. Rign WAe@ g 9§ 20202021 F e

38. F=fafiaa # A fre T #1 Sw—<fam e # TERE Wew Aol gEes (PG #,

watfes fawm 27 Frafafaa § | frm Tsa /99 TS9-89 %1 WA
i wa ¥ e w27

(a) TGS
(a) &

(b) T .
(b) S

(c) wnfem (c) ¥ Ty & Rgh

(d) FHEE (d) <&

JNBY-D-GNL/59C 14



36. Manav jg Plannijn

. g to Vlst |
“_’o_rl@ Heritage Sites in Dl : a'll UNESCo
Visiting elhi, |, will 1y
(@) Red Fory
—1h 0 Qut
Masjid b Ming, Jam
(b) Red Fort

(c) Red Fort’.

(d) Red Fort, Hu

Someone moves from

(@) Pr ayagraj, Kanpur,
Patna

(b) Prayagraj, Kanpur,
Bhagalpur

(c) Kanpur, Prayagraj,
Patna

(d) Kanpur, Prayagraj,
Bhagalpur

west to east?

Bhagalpur,

Patna,

Bhagalpur,

Patna,

38. Which one among the following States
has the longest extension in north-

south direction?
(@) Jharkhand
(b) Telangana,
(¢) Odisha

(d) Chhattisgarh

VBY-D-GNL/59C
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39. Match List-1 with List-IT and select‘t::i
correct answer using the code giv

below the Lists :

List-I List-I
(Day) (Date)
A. World Wetlands Day 1. 29 July
B. International Tiger Day ~ 2. 22 April
C. World Water Day . 3. 2 February
D. International Mother 4. 22 March
Earth Day
Code :
(@ A B C D
3 4 1 2
(b) A B C D
3 1 4 2
g A B C D
T2 1 4 3
d A B C D
2 4 1 3

40. Which one of the following States/UTs
is not among the top five in the
Performance Grading Index (PGI),
published by the Ministry of Education
for the year 2020-20217

(@) Kerala
(b) Punjab
(c) NCT of Delhi

(d) Chandigarh

[P.T.O.




41, fafefen § A - Hwt R w @

WS W agR N wgea WA R ook Rk

PR WE e (appreciation  of
currency) 81 87

() foma o sk s A
(b) WFTFHT TP SR A A

() FFTEH T A afe Frema
A Ay

(@) TR WfF Ay o R
TSR Hify

42. FER TR =7 ¥ 7 F Fro Bsh PRy =1 §

T F 1 FE
(@ (RSt faw #1) s (Crowding

out)
(b) (Fsft f3w ) f@i® (Crowding in)
(c) T4 S€M1 (Pump priming)

(d) S (Dumping)

43. Fefafes & & #F-w/@aH-4, i smEm

/% Y 2/87

1. T=g1/d9 Tg-8el W Aiferi dwg F
2. TP 3R Tsw ' W fAfi #1 amee
3. rdifoal wa dulafy Hifdal s Fewm

g feamga #=
44 for 0 g2 W WM R gA I g
(a) Fad 1 3R 2
(b) ¥aa 2 3N 3
(¢ 1,233
(d) a9 3

JNBY-D-GNL/59C
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44, fufi daf smafy % amum = Wi ofy i

IPIM =1 (MPCE) % #ad # mfeft % frery
F ferwrfar ek g0 ) 7 o7

(a) wFgETen @t
(b) e wfif
(c) TRH Ay
(d) e afufa

45, fFfefan & 4 F-m/Ae-3, wa B

fosra fim (NSDM) #1/% 39-33w /87

1. HEATTd yihEm

2.  HYRIRE TR

3. WENME MY WEA F A9 I3
(leveraging)

Fr e e e 1 WM T 3w g

(@) e 1

(b) Fad 2

(c) 1,23R3

(d) Faa 2 3 3

46. POSHAN HREH & FEifAd &1 F fn

fafafas d @ sR-@ FRf/FRH
3T 7T 8 /77
1. SR ¥ oM F fou oTw-am

e (inter-sectoral convergence)
2. TWigensil 3R T=1 f) arfas T (real

time)ﬁﬁﬂﬁ‘ﬁ‘ﬁaﬁim
wefe (1CT) 1 WM
R fow Ty 2 1 yam R wdH IW g
(a) Fad 1
(b) Fad 2
(c) 1 323
(d Ad1MAA 2



e
1 rajge te"e:(tmit Policies g
and the lead ""“”KU usl
Currency» TeCiation of

(0

(@) crowding oyt
(b) crowding in
() pump Priming 'y
(d) dumping ;

43. Which among the following is/are the

JNBY-D-GNL/59C

objective /objectives of the NITI Aayog?

works

(@) 1 and 2 only.
(b) 2 and 3 only
f¢) 1,2and3
(d 3 only

1. Imposing policies  on  the
States/UTs
2. Allocation of funds at National and ;
State levels
& Design strategies and long-term
policies and programme frame-

17

44. The computation of poverty in terms

of Monthly Per Capita Consumption
Expenditure (MPCE) based on the Mixed
Reference Period was recommended
by the

(a) Lakdawala Committee
(b) Tendulkar Committee
(c) Dandekar Committee
(d) Alagh Committee

45. Which of the following is/are the sub-

mission/sub-missions of the National
Skill Development Mission (NSDM)?

1. Institutional training
2. Overseas employment
3. Leveraging of public infrastructure

Select the correct answer using the code
given below.

(@ 1 only

(b) 2 only

() 1,2 and 3
(d) 2 and 3 only

46. Which of the following Strategies is/are

adopted for implementing the POSHAN
Abhiyaan?

1. Inter-sectoral convergence for
better service delivery

2, Useof technology (ICT) for real-time
growth monitoring of women and
children

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither | nor 2

[ P.T.0.




47. WG # 3AF0-@ (writ of certiorari) Wil
Wﬁ%ﬁmﬁﬂ%ﬁaﬁﬁm—iﬂﬂﬁ/ﬂﬁ
yivard /87

L sfsr o il @ i
% o ot % afvsr ® aifyg
A T T F Ak w0 R
WB‘TWWW'@WQWE};{
Fg

2. W s e Y st &
o v famm 3

N BT g2 91 v v g
(a) Faa ]

(b) ¥ 2

(c) 13K 23

(@ W 13RT8 2

48 ¥ 3 I % o e 3
12w o oy

(@) s w50 wgo @q

(b) =mgfs Fo o E o
(€)= simto wmo ey
) T Ao %o e

(@) 14 faert) gy

(b) 4R Hrgray
(c) s Hqw Sefy
(d) gy HIRYTe

JNBY-D-GNL/59¢
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80. 1937 # §u Y@ H, wwdig

e # @ #A-2 2 T g
7 T (single largest party) 3 .
A T g oft?

(a) e 3R oy
(b) 37 3R gfimie 1 yig
(c) W 3R SrEw
(d) W 3R T3

51. ﬁqﬁ-rﬁgaq;q:ﬁq-(ﬁm-{mq:

52.

a3

Wﬁmﬁﬁaﬁq-m/ﬁm@w%ﬁ?
(@) Fae 1

(b) Faw 2

(€ 1 3R 2 ¥

(@) 37 1skad2

LR R

TR R -0 g i
(@ w@ LLE 0 O e
) T P ¥ s
(6) ST w1 Y 3o & o
@) TR R ) 39 i sy



47. Which of the followy

nec?s Ay ngat:londitiona is/are
Certiorar] Indig) Mt of
1. There shoulg & triby
:fﬁcer .havin lega) trllii]ﬁ(t); o
'etermxne Questiong aﬁ‘ectirfo
rights of Subjects ap, havin ad ;
to act judicially. By

2. Such tribung]
) Or officer hq
Withoyt jurisdiction, : md

Sel_ect the Correct
given below:

(@ 1 only
(b) 2 only

(9 Both 1 ang 3 )

(d) Neither 1 nor 2

of India ordered the constitutio

" a Special Bench called ‘Social Jug

Bench’?

(a) Justice H, L. Dattu

(b) Justice K. G. Balakrishn
(c) Justice R. M, Lodha

(d) Justice Y, K. s;uifw;.f

49. Who among the following is th
of the book, Bandi Jivan

(a) Rash Behari Bose

- 3

(b) Veer Savarkar
{c) Aruna Asaf Ali
(d) Sachindranath San.

JNBY-D-GNL/59C
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80. In the election held in 1937, in which
two provinces was the Indian National
Congress not able to emerge as the
single largest party?

(@) Punjab and Sind

(b) Assam and North-West Frontier
Province

(c) Punjab and Assam
(d) Assam and Madras

§1. Consider the following statements :

After forming the Indian National Army,
Subhas Chandra Bose

1. recruited a large number of soldiers
from the Indian Prisoners of War
in Japanese camp

2.  introduced & women’s detachment
named after the Rani of Jhansi

Which of the statements given above
is/are correct?

(@ 1 only,

(b) 2 only

() Both 1 and 2
(d) = Neither | nor 2

various forms of ‘Bhakti’ i

matched?

(a) Saguna . Belief in Gods with
attributes

(b) Nirguna . Belief in Gods without
attributes

(c) Alvars ' Believed in devotion of
Shakti

(d) Nayanars !

Believed in devotion of
Shiva

[P.T.0.




83, Jel ok fwwam wdl & w v A
FRefefes 3 @ 95 Q) Rl aed &7

(@ T AR e
(b) et 3R et
(c) w1t ok IRaw
(@) Fwm AR gm

s4.ﬁﬂﬁ1ﬁqaﬁﬂ€mﬁﬁdmm(dua1

control structure) A1 WA JHARF wa
TR

(a) Qﬁﬁﬁﬁﬁigﬁ—maa
(b) 3EE TeHey

(c) ¥ra-foesa wm gt
(d) ¥ sheifes g T

55. ﬁqﬁwﬁ:ﬁ%mmmm(ﬂhmic

community) F7-g7 §?
(@) fa
(b) e
(c) Em
(d) amfe

56. ﬁqﬁrﬁaaﬁﬁm%mﬁﬁmaqm
MEe (Chevrons) 7 W

(a) ATfern
(b) @ Fetcten
(c) HTATAE
(d) Tavared

JNBY-D-GNL/59C
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57. anfifeen A @ o i B aa F Pt

R fre e 3mm § o Y
(@) AT WA T

(b) FFEAEA T TEH I

(c) e TN THA A
(d) T T 3T

58. ¥ ¥ =, af 2022 # s REm § g

YR F1 ITHehal T 27
(@) T TR

(b) S Tho FATR
(c) FE RHeEA

(d) @R fiferr

59, sﬁaaﬂtwa@aﬁm%%ﬁmﬁﬁmﬁm

(reflex arc) fefm 8 &) Frefean # 2

FH-A AN, Wed 99 ) F wg J

Frefia e 37

(@) m—lﬁﬁ%——ﬁwﬁﬁé%
— — 3 M — Fw

(b) m—dﬁmﬁ—m_m
A = — 3 = —

G m—%i‘gﬁ—mﬁﬂgw

— Wt R — Hfa

(@) Nacl
(b) KCl
(c) HIARe
(d) AN



ow

tween Gulbarga dm the legion

ampi» VlJ&yanagara
(@) Narmagq and Godavy;
(b) Mahanadi and Goaavm}'_
(¢) Kaverj and Perjyq, '.
(d) Krishna and Tungabhad

54. Which .Qf the followmg is th

Paramilitary force With g dua] ooy
i Contro]

(@) Centra) Reserve Police Force
(b) Assam Riﬂes, '

(c) Indo-Tibetan Border Police

(d) Centra] Industria) Security Force

55. Which one of the following is an ethnic

community of Assam?
fa) Bhil £

(b) Gond+

(c) Ahom

(d) Adi

56. The Chevrons is the name of the cricket

team of which one of the following
countries?

(a) Australia

(b) The Netherlands
(c) Ireland

(@ Zimbabwe

21
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§7. Cheetahs, brought from Namibia, were

59.

60.

introduced in India to which one of
the following National Parks?

(a) Kaziranga National Park #

(b) Keoladeo Ghana National Park
¢) Keibul Lamjao National Park
@/ Kuno Nationa] Park/

Who among the following is not a

recipient of the Nobe] Prize in Physics
in 20227

(d) Alain Aspect

() John F. Clauser
(¢) Klaus Hasselmann.
(d) Anton Zeilinger

Reflex arcs are evolved in animals for
quick and efficient responses. Which
one of the following sequences correctly
fepresents a reflex arc?

(@) Receptor——Sensozy neuron—Relay
" neuron in spinal cord—Brain—
* Motor neuron—Effector

B

(b) Receptor—Sensory neuron—Brain
—Relay neuron in spinal cord

~  —Motor neuron—Effector

(€) Receptor—Motor neuron—Relay
neuron in spinal cord—Sensory
neuron—Effector

w

(d) Receptor—Motor neuron—Brain
—Sensory neuron—Effector

Which one of the following is essential
for thyroid gland to make thyroxin?

(@ NacCl

(b) KcCI

{e) Cholesterol
(d) lodine p

[ P.T.0.




61. et vmw 9 ¥ ¥ ar I Wh F g e

® TEgE f ¥ w PR d @ Ry
T ¥ B 7

(@ AR v
®) co,
fc) ulaw s

(d) TS

62. M%mméﬁa@ﬁﬁﬁ@ma’@nﬁam ,

W 2 e % R e v & < T e
T 38 Iaed et & Pl fen m adi
FAER W A e B T S
9HTq St 1 3ifem o7 = Ame

(a) TR
(b) &

(c) e
(d) W

63. 3f wrFa R i @@ TR TR RBCs)

1 9% s ? ol R e T §
uie (et %1 greoErd faeem) # wga e
e 8, @ RBCs # %1 gm?

(@) RBCs F& i

(b) RBCs @ i sin wez wmdrh

() RBCs fagg s

(d) RBCs % =am@ # #1§ wiad 7 #m

JNBY-D-GNL/59C

64. 7q 3 aifad fe % way ¥ Fefafea 4 2

BR-A1 FoA wd T 27

(a) Tm & foafel ¥ oem & fo w29
i

(b) T @i ¥ wraedieo § wemE @ 2

() T smE A M 9 @@ F e
pH ®I XM (neutralize) Fl 21

(d) = @@ % pH ® @i Fa § iR
IpTEEfl UAHl 6t R @ g S
2 :

 65. W W #1 e 120/80 mmHg Bl

13wt e ) qwi §

(@) s o Hge 3R e i
) - o it st e v w
(¢) F17: 17g HpeA IR Afere fsifa w
(d) w1 WP R AR W W

:
66. HI§ =i il @& wEW (cliff) % W Yoy

ST & ol R ¥ 5s ¥ AR Id
RICIEREIRIEE i TR R e

340 m/s °, a\@éﬁmﬁwﬁsﬁ{ﬁ
Tl &7

(@ 1700
(b) 170 m
() 85 m

(d) 850 m



61. A Sprinter feels or

Amps g .
:hlgh Muscles afte, ! nd Pain in the
0 accumulation of CNS S dye

@ lactic g¢ig

/
) co,

(¢) pyruvic acid

(d) ethano]

(a) Colourless'

64. Which one of the following statements

regarding bile secreted by liver is not
correct?

(@) Bile contains enzymes for digestion
of lipids.

(b) Bile facilitates emulsification of
fats.

(c) Bile neutralizes the acidic pH of
the food coming from stomach.

(d) Bile makes the pH of the food
alkaline and facilitates action of
pancreatic enzymes.

65. The blood pressure of a normal human ,

being is found to be 120/80 mmHg.
These ‘numbers’ represent the blood
pressure at

(@) ventricular contraction and
7

b o ventricular relaxation, respectively
reen
(b) ventricular relaxation and ventri- i
(c) Blue cular contraction, respectively
S (¢) auricular contraction and auricular
(¢ ite

relaxation, respectively

(d) ventricular contraction and &

7 _auricular contraction, respectively
63. If the red blood cells (RECs) of human

blood are isolated and arc diluted in

normal saline (an isotonic ' ien to 66. A person burned a firecracker in front of

blood), what will happen to t/c RBCs? a cliff and heard its echo 5 s after it
) ; burst. The distance of the cliff from

the person, if the Speed of the soung

(@) The RBCs will swell f is 340 m/s, is close to

(b) The RBCs will swell and hurst :) 1700 m
i b) 170
(c) The RBCs will shrink (b) m
' () 85 m
i linmeters of
(d) No change in the diamcie @ 50 -

the RBCs

23
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67. TRHEH IR AeEE B ¥ ofw F A

s sl w Ram it

1. aEReR, W 9 e g (signal)
¥ yiafde w5 )

2. WIGREH, @i #) &g @ § ghafi
@ R :

3. R, 7its @ N @R § qfEf
Fa R

4. T, Iga W9 B @ § vhafia s
2

e & ¥ P-Y Fo 9@ §

(@ 13R3

() 134

(¢ 23R3

(d 234

68. 100 W & TF fagq wev A R A 10
A § o S #) @ed gu 3 it § e
e dga & K @@ F; wwonr

(1M = 1 kWh)
(a) 3:00
(b) 1-08
c) 216
 (d) 033

69. AR @ ¥ WY W Y@ § 1R FO A

Tt w1 & fore a-awa u% ¥ siarta & 71
frefa w27

(a) 38 haq an

(b) T fae faegre
(c) 3% gm T $) 7§ 70
(@) T shea w

24

70. 10 cm B4 g0 a1 A9 F) g faah 37

(a) 01 TRAHTLX
(b) 1 ST
(c) 10 SEAHT
(d) 100 SEHTX

71. a % Wffirm Rem & TR ¥ Wi

frafafaa waet w famm #if
1. MgO %1 4d g9 &ar 8|
2. I8 3§ Affsen o1 T 3emEw
3. 1 3R VM I9A BT B

I & ¥ PH-8 HYA ad §7
(@) a1 3K 2

(b) FFa 1 3R 3

¢ Faw 2 3R 3

(d 1,23R3

. 72, 9 @ T Sl $ dan § B2 T 9@

4

CaO(s) + H,0() - Ca (OH), (ag) + S

1. f 92 P o e o S
for forem e 21 |

2. TP 9w T G A g

o for s 2y

3. & W CaCOy # weh wa W ¥

. T cao g # femm co, % W W

i A sfvfRn wa R

4. T AW A IA HREW e
T ST i ¥

A9 g 1T 2 # W W qE W ghe

(@) ¥a@ 13K 4

(b) 23R4

) 23R3

(d 1,334



67. Considey th

€ follow;

: g state
the MICrophone an emems aboy
& mobile Phone . SPeaker o
15 i
The MICrophone .
& Mechanjeg, s Sounq ¢

4. The Speaker Convertg
signal tq Sound, /

Which of the

statements give
N abg
correct? Ve are

(@) 1 and 3
(b) 1 and 4
fc) 2 and 3
{d)/ 2 and 4

(@ 300,
() 1-08
(c) 216
(d) 033

69. The area under the velocity-time graph

for a particle moving in a gtrajght line
with uniform acceleration gives

(a) its average velocity
(b) its net displacement |
fc) the distance travelled by it

(d) its average speed

JNBY~D-GNL/590
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70. The power of a lens of focal length
10 cm is
(@ 01 dioptre
(E) 1 dioptre
(c) 10 dioptre
(d) 100 dioptre

71. Consider the following statements
regarding burning of magnesium ribbon
in air ;

1. White powder of MgO is formed.

2. It is an example of combustion
reaction.

3. Heat and light are produced.

Whiéh of the statements given above are

correct? '

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d 1, 2 and 3

72. Which of the following statements with

regard to the reaction given below are
correct?

CaO(s) +H,0() - Ca(OH)2 @q) + Heat

Quicklime s used for white-

washing of walls.

2. The solution of slaked lime js used
for whitewashing of walls,

3. CaO reacts slowly with CO, in
air to form a thin layer of CaCO3
on walls,

4. Calcium hydroxide called ‘slaked
lime’ is an inorganic compound,

Select the correct answer using the code
given below,

(@) 1 and 4 only
(b) 2 and 4

fc) 2 and 3

@ 1, 3 and 4

—

[P.T.0.




78, S W ¥ Qe R A (heating)

dey A P o @ #9-Q FoF @6 &7
1. NO %1 ¥ ¥ (fume) Frver 81

2. R0, hw fiswed R

3. g et sty %1 T TR R)

4. WNO, T ¥ 3@ & o wye S
U9 (thermal decomposition)
T S

SRREEIE GRS L Y
(@ 13R2

) 2,334

fc 1,334

(d) stﬁ(q

26

75. WA F vH Us & Ay A, ﬁ%
(clues) W for=m Hifsm .

1. 78 ‘e o el vyt arep
& w9 & S e )

2, mﬁm%a:ﬁﬂ?ﬁq%%m

(division) |

3. W W F FA AAEA ¥
mﬂﬂﬁﬁ?&ﬂ’g’aﬂ%;

ﬁqﬂ‘llﬁﬁﬁ%?ﬂmw
i)

(@) Ffes
(b) Y Wy
(c) 3w
(d) i

(@) shfem, sy way, o —
(b) BT, iy w1, e e <
(c) 3nfEm, iy R, Fe,
(@) sz, sy gy e, o

<<<<<<

(c)  Toites, srem, S, o -
@)  STEW, iy v ii

T 2.3

Wﬁqﬁm



73.

Wh‘lCh of the fonOWin
'°Bard to heagyy,

Stateme
of | o W
over a flame are cor::(::?m powd:eh
1. Brown fumeg °f NO rel
Caseq
2. Colourleas 0, 8as jg rele
ased

9. It is Ple of
o
decomposition Used g, T
Productiop of NO e

2 gas,

Select the Correct
given below.

(@ 1 and 2
(b) 2, 3 and 4+
© 1,3 and 4

(d) 2 and 4 only 4

74. Which one of the following is not an

oxidation reaction?

(a) Rusting of iron J

(b) Opening of soda bottle ,
(c) Rancidity

(d) Combustion |

'NBY-D—GNLISDC
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78. Consider the foll

owing clues about a
State of India :

1. 1Itis known as ‘land of red river and
blue hills’,

2. 1t contains three of the six
physiographic divisions of India.

It covers about 2:39 percent of
total areas of the country,

Identify the State on the basis of the
given clues.

(@) Karnataka

(b) Andhra Pradesh
(c) Assam

(d) Chhattisgarh

76. Which of the following sets of States

shares boundary with Telangana?
J

(a) Odisha, ‘Andhra Pradesh,
Karnataka, Maharashtra/

(b) Chhattisgarh, Andhra Pradesh,
Karnataka, Madhya Pradesh

(c) Odisha, ‘Andhra Pradesh,
¥ Karnatak.x,hﬁdh}l& Pradesh
o

(d) Chhattisgarh, Andhra Pradesh,
Karnatakay Maharashtra

77. Rani told her friends that last year she

did boating jn four different lakes,

namely, Loktak, Barapani, Kolleru angd

Pulicat. Whigh of the following States
dl(l she \‘Ni.t?

(a) N I 4 Meghalaya,

Kerala,
Lanil Nadu |
(D) N, Meghalaya, Andhra
Prod-gh, Tamil Nady
Mizo paum, Assam, Kerala,
Famil Nadu
() N\ zoram, Assam, Andhra Pradesh,
lumil Nadu 5
| P.T.O.



78. 2011 ® W ¥ ogEw, R W

A-a/aa-R o wd R/

78 v, a8 WaR T R

). A ol IR e ) oy & A,
) Rt o o T T ge g ok
fira 1 T §, B WER JF @ R

R Ry g = W R @ W g
(@ Fa4 1

(b) ¥ 2

(¢ 1323w

d Fd1dad2 |

79. 9T % F: FReY o ol e T B R
TR T Y@l e 37

(@ 137
(b) 236
(c) 235
(d 335

80. Frififan & & - Rl wredify ) i

A 9w R

(@) W W R Fa o, s A o
Lc

(b) wwm & i 3fy
() TR-9fd A
(d) T F1 IR TR

JNBY-D-GNL/89C

al'wmm%iﬂﬂﬁw%ﬁaa

Mwﬁ?r{iﬁfﬁm:
L. R LG T e

2. FTER W b o v A dah
TSt CE % e % 2 w6 §

:memzﬁmm
|

mﬁﬁw-ﬁmwt?
(@ F 13w o
(b) ¥ 2 ¥ 3
(0 ¥ 133
(@ 1,233

82. SamEl % MR & FfoRem § 3 #1-3 wum

@ {7

L Sl ® §EE@  (strength) R

waE RS g (Yoleanic
Explosive Index) & Wy w1q1 §)

2. wgwere I freiite, e f

(volcanic activity) # '-4q gu

3. aranE B swers, ) ik I A
o W e i ) e R

A Rem e 71w ::\g%wgml
(@ %@ 1 32

(b) ¥ 2 3 3

() Faa 1 3 3

d 1,233



78. According to the Censyg

: 201 ;
the foliowmg Stﬁtements is/all-; (‘:’Vhlch of
Orrect?
1. A person who can
onl]
cannot write Y Tead byy

» 18 not literate.

(@ 1 only
(b) 2 only/
(c/) Both 1 and 2

(d) Neither 1 nor 2

79. The Tropic of Cancer passes through how

many coastal and landlocked States
of India, respectively?

(@ 1 and 7
(b) 2 and 6
) 2 and 5 +
(d) 3 and 5

80. Which one of the following situations can

‘J'\I

lead to inflation?

(}/ Rapid growth of aggregate demand
outweighing supply

app t
(b)  Sluggish aggregate

demand |

growth of

1
(c) Reduction in the money supply

t|
(d) Higher levels of unemployment,

"BY‘D*GNL/sgc
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81. Consider the following statements about

Kanaganahalli archaeological site :

1. Tt is situated on the bank of Bhima
river.

2. The remains of the Kanaganahalli
Stupa can be dated between
Ist and 3rd centuries CE.

Emperor Ashoka’s image was found
. at the site.

Which of the statements given above are
correct?

(@ 1 and 2 only
(b) 2 and 3 only
()" 1 and 3 only
(d) 1, 2 and 3

82. Which of the following statements about

volcanoes are correct?

1. The strength of 4
is measured by the
Explosive Index.

volcano
Volcanic

2. Iceland ang Philippines wére
created by volcanic activity.

3. Volcanic soils are rich, deep
and fertile ang allow intensijye
agriculture to take place.

Select the correct answer using the code

given below.

(@ 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

[ P.T.O.



83. M ¥ @ R & fyafifes RAdwaet w

85, ﬁﬂﬁf@aﬂnﬁawﬁﬁﬁ%&ﬁmﬁ

foveme e Y 37
1. 2 wagq @ fiffa 99 &) .
2. W W F OWAH TER R S o,

WSl 3R farsell Sy 39w TR e 2 (b) TR
3. ﬁa‘s‘?‘tﬂ’ﬁ\ﬁ%mﬁm,m (c) II'ET{TE

Fer-w (anvil tops)’ SR B9 ¥ _

(d) ¥y w2y

AT fadvaned % SR W A R A vem
i

86. Refafiag s 3 3 HH-W /PR A 257
(@) T FIE A (Stratocumulus) ' 1. fomarmmy o T - AT I7H 2|

2. e T T ST e Bl
(b) 9 T 79 (Cumulonimbus)

9 R gz i g
(c) 9&ETH FUrE Ay (Cirrocumulus) (@) 39 1

(b) e 2
(d) e A (Nimbostratus)

() 1 3R 23

(d A7 13RIH 2
s4.ﬂﬁmaﬁ@mwﬁhmm%%m
W@%ﬁw,m,mwaﬁ-{
T4 A e sam o %1 v & a7.aﬁ20113ﬂ12021%aﬁam%wﬁ—mﬁa

LERLIEI 8 R TR L G M,
E?ﬁw%ﬁaa 3R A v T WA % 5 e A 3 o g 37

(a) aﬁwaqwosrﬁsmﬁsﬂ‘wﬁm

(@) 91T (Pie chart) HHAA (canopy density))

(b) WO W W\ (40-70 ufiwa ¥ o
(b) wEM O (Scatter graph) faam BLER))
: % d9 faqm
() %2 (Bar chart) (c) QT T{ (10-20 i
(d) T g (Triangular graph) (d) (b) 3 (c) A
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83. Consider the

0”0\\3'
a cloud type m

1.  They
ey are bory throy, \ con
\‘CClmn
2. Only cloy
o type that
hail, thunde, ang lighcxa in TToduce
ng,
3. Th
€y are large uliflg or
towers ften 4 | topg’ “Shapeqd

Stratocumulus
(b) Cumulonimbus {
(c) Cirrocumlilus

(d) Nimbostratus

(@) Pie chart
(b) Scatter graph
(c) Bar chart J

(d) Triangular graph

JNBY—D-GNL/sgc
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85,

1 ; 'I S 2 s &
hich one of the following |n(,|!.i
N1c > . tates

has the longest coastline?
(a) Tamil Nadu

(b) Gujarat\/.

(c) Maharashtra

(d) Andhra Pradesh

86. Which of the following statements is/are

87. There is an increase i

Correct?

1. Visakhapatnam Port is a

land-
locked harbour.

2. Deendayal Port is a tidal port.

Select the correct answ

€r using the code
given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

n forest cover area
of India between 2011 angd 2021.

However, there is a decrease in forest

cover area of India during the same
period in

(a) very dense forest (canopy density of
more than 70 percent)

(b) moderately dense fore

St (canopy
density between 40-70

percent)

(c) open forest (canopy density
between 10-20 percent)

(d) Both (b) and (c)

[ P.T.C



ss. v fan A, 2020 A wEm Frafafe 90. frifafan # & #-w, wma ¥ wfem &
Fo W fan i

IR 51 1 v T 37
1. w1 2025 @ Wha o Ima fap

e & Hem ¥ FH-A-H0 50 yfywm
faenfiiat ) smawfies fan @ s

2. waftE  fqmem, oMmRe Ho o,
RURCIESE G QRS i e _
i a4 (b)w%mmmwm
H T @
3. weEhE e fdw w1 ¥ Rowwd
& (NGOs) T YaM Y sty

(@) St wife st g ) wgren 30

(c) W foamel ¥ e & fo uN
ST T A A PH-A/AA-D T A T F A1
(@ ¥4 1
(d) Tt 3N Siidy fEwt ¥ fiwen 3
(b) ¥4 130K 2 fore e e
(c) %@ 2 3w 3
(d 1,233

91. T} FN, -Fre ridew (NAM) ¥ TaFm

= (formative phase) ¥ < 3@?3 7
et e on?

89. Hifd (NITI) smim % swem, Frefrfeq § 4
T F1 FH-A TR, W Wo Fo Ho wiw .
WIEF, 2020-2021 (Composite SDG (@) ¥ G (Kwame Nkrumah)
India Index, 2020-2021) & TR H19 27

. (b) S WA T (Gamal Abdel
(a) %W, FNEs, fagn Nagset)

(b) I Ue, gH@e, faen

(c) VATEETH g
(c) I wem, farn, swm

(d) snfem, faen, smEe (d) T F8N (Fidel Castro)

JNBY-D-GNL/59C 32



88. Consider the

follow;
. Ing
concernj Stat
Polic 28 ¢ National Ed eme.nts 90. Which one of the following is not a part
¥, 2020 . eation of Article 51 of the Constitution of
India?
1. At least 50 Percent of the |
through schoo] . eamers
education System ¢, higher o
to vocationg) educatiy, ;. Posure (@) Promote international peace and
alion py 2025, security
2. Seltlrolr)xdary schoolg shoulq
Collaborate v
and locg] in:lt:t ¥TIs, Polytechnics (b) Maintain just and honourable
ries, aintain jus
) relations between nations
3. Vocationa] education to  be

exclusively provided by NGOs,

(¢) Use of UN peacekeeping force for

resolution of international disputes
7

Which of the stateme

ts given aboye
is/are correct?

(@) 1 only (d) Encourage settlement of inter-
national disputes by arbitration

(b) 1 and 2 only
() 2 and 3 only

@ 1,2 and 3 91. Who among the following was not in

the core leadership of the Non-Aligned
Movement (NAM) in its formative phase?

89. Which of the following sets of Stat‘es
is at the bottom of the Composite
SDG India Index, 2020-2021 as per
the NITI Aayog?

(a) Kwame N krumah

@ Assam, Jharkhand, Bihar (b) Gamal Abdel Nasser

khand, Bihar
(b) Uttar Pradesh, Jhar fc) Jawaharlal Nehry

(c) Uttar Pradesh, Bihar, Assam

(d) Fidel Castro
(d) Odisha, Bihar, Jharkhand

33 [PT.0.
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92, SEIER ¥ way A, fpfifad 3§ ¥ PA-8 HH

w87

13w das ol Riewsr A

0. T ae-ore Fueh WREnl g R
ERIER

3. 3 gy @ (Deccan) 3R TEwY §
f

TR Ry g2 71 W@m R 7@ IW R
(@) %4 1 3R 2

(b) ¥ 2 3R 3

(c) e 13K 3

(d 1,233

93. Zrwre #, Rmen # ot wftwg = anfrt

95.mﬁﬁﬁaﬁ19<‘=ﬁmﬁfﬁaﬁwﬁ

AT ) o7

(@) TuHE ¥
(b) T B 173
(c) FrebTIy ¥in
(d) % =z 3

96. 3 T, Qozlﬁmngmmm .

mmmﬁaﬁzozsﬁmfm

(Basic Sciences)
(b) =i
() P2 (Millets)

(d % (Camelids)

97. #id® wow, Ry 1cC T T20 fyaam,
wﬁmwwmwm 2022ﬁmmmﬁqm(%@$)mﬁ%,
W 3 917 o 2w w1 v w2
(@) 1 AE (@) )

] (b) |IH WS kTG
(b) TS TEERh © sie
(c) @ (@) i
() faferm e 98. TR Fawy (Wassenaar Arrangement) &
way 3§ ffafen § A SR-w wm @
27
. & FES W F e F A g
94 a’:é?ﬂ,w wmgﬁﬁaﬁ:{%? (a) gga;q@][ﬁf}Q“ﬁ“Fﬁ%mma%l
(b) HE TH WA TH el eI
(a) R S 304 (nuclear weapon overseer) ¥
w9 ¥ foman
(b) ¥ et R R T e T np———
(c) WTeTEIR TR (d) YR 38 o5aen ¥ 9 2017 1 wWhW
(d) 3 SeE gl

JNBY-D-GNL/59C "



g In respect to Balutedars,

: Whij ‘ founded
statements given begy, are o of the 95. Who among the following

ety the Hindu Dharma Sabha in the
1. Tll:lttifilan:ere village Servantg and 19th century?
a .
(@) Radhakanta Deb
2. They were employeq

by indiy;
peasant family, dividug (b)) Ram Mohan Roy

3. They existed i () Dwarkanath Tagore

€ Medi
Deccan and Maharashtra_ leva] (d) Keshab Chandra Sen
Select the correct answer yging g, code 96. The resolution adopted by the United
given below, Nations General Assembly on 3 March,
2021 decided to celebrate the year 2023
(@) 1 and 2 only o as the International Year of
(b) 2 and 3 only (a) Basic Sciences for Sustainable
Development
() 1and 3 only evelop
: (b) Glass
(d 1,2 and 3

(¢) Millets
(d) Camelids

93. Which one of the following Viceroys was 97. Karthik Meiyappan, who secured
the first to officially shift his Council hat-trick in the ICC Men’s T20 World
to Simla in summer season? Cup, 2022, represents

(@) Zimbabwe
(b) Lord Dalhousie (b) United Arab Emirates

(a) John Lawrence

(c) Lord Mayo . " (c), Sri Lanka

(d) Namibia
(d) William Bentinck

98. Which one of the following statements
about the Wassenaar Arrangement is

?
%. Who among the following is the author not correct:
of Maze Vidyapeeth, the famous poem (@) There are 42 participating nations
about the life of working class of in the Arrangement.
Bombay? (b) 1t is formed primarily as a nuclear
(a) Narayan Surve weapon overseer,
(c) India is the current Chairman of
(b) Amol Palekar the Arrangement.
() Bhalchandra Nemade (d) India joined the Arrangement in
the year 2017.
(d) Narendra Jadhav
35 P.T.0
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90, il ¥ A ‘waleh vaadw  (Payyoli
Express)’ % 9 § =1 a1 87

(a) f&m ™
(b) T R
(c) o Ho 3

(d) g STSTEH

100. §ifew ol QEHR, 2022 % femst 3
watm geh-1 A1 F=h-11 % o ghfm Hift
st et % A Re T R
Wﬁﬁ'&:

-1 -1
(T =1 W iR farem) (Pra)

A. 47 7 (FEH-U0R) 1. wwe am
B. W%W(Wﬁm- 2. o I

HIE)
C. BF% (TF-¥R) 3. wft Toemy
D. S Sfal (MeF) 4. W AR e

%

(@@ A B C D
3

(b) A

w o
N QO
0O

) A B C D
3

2 1
d A B C D
4 2 3 1

JNBY-D-GNL/59C
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101. ﬁﬂﬁ?ﬁﬂﬁ?ﬁﬂﬁmw-ﬁﬁq@n

émﬁwaﬁﬁfrﬂ,ﬁgﬁ‘m%?'
il ! T E 199y
Wﬁwmwmaﬁ?wmé
AR A 2001 7F 3 A Nl
ﬁé%awa%wﬁw,%mlwm
farar a7 W#%
(a) SSEdTTRn
(b) FEA wHR
(c) wren faemy
(d) < TG

102. UN 2023 V9 G®eH & JO-&
(venue) Fr=ifeiflaa § @ fm-m ¥

(a) ?ﬂﬁ'mzq, Blo Hlo
(b) I
(c) & fewm

(d) =3 s




99. Who among the

fO]lo i .
‘Payyoli Expresg» Wing is knowr, as

(@) Hima Dag
(b) Dutee Chang
() P.T. Usha

(d) Shiny Abraham

code given below the Lists -

List-I

List-I1
(Title and Genre) (Author)
% Bhool Satya (Short 1. Kamal Ranga

Stories)

3. Tumadi Ke Shabd 2.
(Poetry)

Veena Gupta

(. Chhe Roopak (Drama)

o

Badri Narayan

). Alekhun Amba (Play) 4. Manoj Kumar
Goswami
Code :
(@ A B C D
1 2 3 4
(b) A B C D
1 3 2 4
() A B C D
4 3 2 1
d) A B C D
4 2 3 1

Y‘D~GNL/ 59¢C
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101. Consider the following statements and

identify the actress :

She is a renowned film actress, director
and producer, and an accomplished
Indian classical dancer. She was
conferred the Padma Shri in 1992 and
has served as the Head of Central Board
Jor Film Certification Jfrom 1998 to 2001.
In recognition to her exemplary lifetime
contribution to Indian Cinema, she
was honoured with the Dprestigious

Dadasaheb Phalke Award.
(a) Vyjayanthimala'

(b) Waheeda Rehman

(¢) Mala Sinha

(d) Asha Parekh

102. Which one of the following is the venue

of the UN 2023 water Conference?
(a) Washington, DC

(b) New York

(c) San Diego

(d) New Delhi

[ P.T.O.



103, Rrffad A A PA-T/HA - FUd 9 R/RY
S S LB UK (i i K ds
(Tomb of Sand) e gl TEHRR
SR o get w9 A T el s E
fivell ¢ vRel T R
e sty d5, R A PR e
s 2 AR st IR JEER WeH
o )

o]

R fog T e 1 R R IR G
(@ ¥Fa@ 1

(b) FaA 2

(c) 1 3R 23

(d Fd1AMAH 2

1o4.mmﬁﬁmmmﬁm,a‘r%
o ¥=3dw oA (bilateral

military-to-military exercise) ®, 31} T@
A8 ura iR Frefafe § ¥ fee 3 ¥ fo
FeAt % e forn mn?

(a) ST
(b) TERREN
(c) MM
(d) R

105. gaedifa 4 % forw wem g P 3
ﬁmmmmﬁmmmﬁ?

() Im,sﬁummmmm

(b) Tafa w sife afa (subsidy) wem
Eac|

(c) WWWWWW

Y

i ELE

(d) awfer ey fify I (CRR) ¥ wwfy
Eac]

JNBY-D-GNL/s9¢C
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Y

106. mefﬁmﬁ“@ﬁw
=y,

(a) TR (Deflation
(c) e (Devaluation)

(d) & (Rece ssion)

107. T wg-sTETh

Frerfirfan 3 aaqu gfaﬁ‘;“’“

@ Tty |
(b) WA R

(c) g Wefern

(@) W =ftw am

108. WA sreran Ry eardl ) i i o ¢
T BN ATl AT B @




he g"“eral

: ; in t
_ Which of the following statements is/are 106. The sustained decreds® g
cortect? . price level is called @3
1. Tomb of Sand, written by Geetanjali
Shree, is the first book orjg;
: . 1ginall i
written in any Indian languigea tZ (a) deflation,
win the International Booker Prize.
. tion
2. Tomb of Sand is the first novel (b) stagflati
translated from Hindi to be given _
the International Booker Prize, (c) ’devaluatlon
Select the correct answer using the code
given below. (d) recession
(@) 1 only
. 107. Which one of the following indica-ltzz
() Both 1 and 2 s included in Natio
Index (MPI)?

(d) Neither 1 nor 2 Multidimensional Poverty

. The eighth edition of the Exercise Garuda (a) Years of schooling

Shakti, a bilateral military-to-military
exercise, - was conducted recently (b) Literacy rate
between the special forces of India and v

(@) Japan (c) Life expectancy

(b) Indonesia,
(d) Per capita income

(c) Bhutan

(d Myanmar

. Which one of the following is a measure 108. The unemployment that occurs dae =
(o)

that can be used by the Government changes in the technology or in th
€

for combatting inflation? demand for particular products is called
alle

(@) Increasing  the non-planned

expenditure on defence, police, etc. (@) frictional unemployment

(b) Providing more subsidics On

exports (b) structural unemploymcnt

rate of interest on

() Increasing the : .
savings and fixed deposits (¢) cyclical unemployment

(d) Reduction in the cash reserve

ratio (CRR) (@) disguised unemploymen

39
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100, =faRed d ¥ NF-w/ANA-, v @R
e AT (PMSSY) #1/% /YA ®/87

1. JAEs W @Td et ) Iqesud
EEERECEGREICRAEZC)|
2. W% W Yasd of wdeAd Fehram

3. W A pEal smfiTE fen ¥ R
glawad & afg &=

R R e 1w s gf
(@) 34 1 3R 3
(b) = 2 3k 3

(c) Fad 1

d 1, 23R3

JNBY-D-GNL/59C

112. Frefifas 3 3 =

113. fefifan & @ #m-w fompie

(b) =W
(c) T=h
(d) refirn

Torw et 27 I, SWAYAM g 5.

(@) =R =R

(b) FeN AT

(c) YH [ *0 ¥ fy wivme v
Rt

(d) TR w1 ¥ T H © o W
s /e fra W v R

T % ot et R

(@ T fawm

(b) T fam

(0 WWW%WW

el
(d) 9, T st




~of llo
bJectWe/o 1ve 8 e th
Mantri o 2 Surgy Pradhy,
(PMSsY) R Yo
1 Correc i

g r €g1 1

he availap;, e in

care seryiee calth
2. P TOVI:dm Niver access

Publijc th Serviceg :1)

Universy) Imm Zatiop "
3 Augr.nentin facﬂmes for Quality

medica] Ucation j the count

Select the correct an
given beloy.

(@ 1 ang 3 only
(b) 2 and 3 only
¢ 1 only

(d) 1,2 and 3

. Who among the following political leaders
Suggested the dissolution of the In‘d‘xan
Nationa] Congress as a political
Organization and its replacement by a
Lok Sevak Sangh?

(@) Vallabhbhaj Patel
(b) Dr. B. R. Ambedkar
(© M. K. Gandhi

@ Jawaharlal Nehru

b
Y\D~GNL/590
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111, Ingig 4 the first country in t.he world
to deploy an all-woman contmgent' to
a UN Peacekeeping Mission. In which
Country did this mission operate?
* (@) Liberia /
(b) Sudan(/r

() Burundi

(d) Croatia

112, Which One among the following is not
a‘part of the SWAYAM Programme?

(@ Video lectures
(b) Classroom lectures

() Online discussion

forum for
clearing doubts

(d) Specially Prepared materiq) that
can be dOWnloaded/ printed

113. Which one  among the following
Departments/Authorities is not under
the Ministry of Home Affairs?

(@) The Department of States

(b) The Department

of Official
Language

(c) The Nationa] Authority Chemica)
Weapong Convention,

(d) The Department of Jammy,
Kashmjr and Ladakh Affairs

[P.T.0,



114 ﬁqﬁaﬁiﬁﬂﬂﬁﬁm%qﬁmaﬁm
W%N%ﬁﬁ@wm:ﬁgmﬁ
e TRwg A W T

ﬁ—@sp\{@aaiqﬁ%?
(@) WafT T T
(b) S T

(o) STR-T TR

(d) WG HI qEE

115. 370 =fo Reg ¥, Fefafas & @ fR-3
T4 /69 U9 -8 ufifera 87

(a) TGS, IN YeW, TRAN, W&, SH
3R FR

(b) Ef@mn, TN, e R, TS
pieRE v 5P REE]

(c) I WW, INGS, Y9, TREON T
TRYA

(d) I@e, IW W, feaEe ww, G
g i

116. UM wEE g gfenfa dym A ouwon

(notion of kinship) F=ferflaa % A fray
WH @ GaH ®9 @ yifor R

(a) @A A I ROy (identification)
(b) uTffe HEdHl & 3gEE
() freeda  unfa

panegyrics)

(d) el st gfdFen (sculpture)

(inscriptional

JNBY-D-GNL/59C

117. W v § frefofad 8 8 562 af 3 o
ST AT oA

(a) 67 Al

(b) vgu & afE WA (elder nung)
(c) Thepht w2 (status) & afm mfam
(@) e w9 A Frewfa afeem

118. HdH % 3fea VoA F BF wem 3 1014
H gareee § Fan wiufa i s § oy

(@) i T SN
(b) TEENE FE
(c) THo Sfo AT
(d) sifam T

119. YW Q-7 g H wwiy Fffan 3 &
Torsh g i g ofi?

(@) T Y
(b) T EY

(c) aenia  wEEhAl
Wadgaon)

(d) W §iY

(Convention ~ of

120. 36 @1 (battle) 1 A g, T
F T 1741 3 g9 F) W w0

(@) W2 A& A

(b) B A e

(c) e ) wisrd

() SR (Changanassen) ¥ o

!

A



e = o o
SRS
S TTTRERR————

4. Who among  the

followiy,
. . g
dlscretmnary Powerg Under . g;::'en 117. Who among the following were referred
Schedule of the Constitution of | lft-h to as the ‘Theris’ in ancient India?
to set up g Tribesg Advisg . 1‘1d1a
a State which has Scheg uncil in (@) Respected women
not SChedUICd Areas? Mied TrleS but (b) Eld in Buddhij
€r nuns in Buddhism
(@ The Governg : , .
Sine T of the Concerneq () Women denjed the Bhikkhuni

status
(b) The President of Indig

(d) Women expelled fr

om the Buddhist
Sangha
(c) The Inter~State Counc;j)

(d) The Parliament of Indija

a) Shri Ram Baipaj
rthern Zonal Council? @ & e
(a) Uttarakhand, Uttar

Haryana, Punjap, Jammu gapg (c) S. G. Vaze
Kashmir

(b) Hriday Nath Kunzru
Pradesh,

(d) Srinivas Shastri
(b) Haryana, Punjab, Himacha]

Pradesh, Rajasthan and NCT of

119. The First Anglo-Maratha War was
Delhi

concluded by which one of the
following?
(c) Uttar Pradesh, Uttarakhand, ofowing

Punjab, Haryana and Rajasthan (@) The Treaty of Surat

(d) Uttarakhand, Uttar  Pradesh,
Himachal Pradesh, Punjab and
Haryana

(b) The Treaty of Purandar
(c) The Convention of Wadgaon

(d) The Treaty of Salbaj
/

- The notion of kinship projec'ted bc);
the Kushana rulers is best evidence

120. Name the battle in Which the Travancore
through which of the following?

King defeated the Dutch in 1741,

(@) Their identification with deities (a) The Battle of Porto Novo

%) Grants to religious institutions (b) The Battle of Colachel
rants

(¢) Inscriptional panegyrics (c) The Battle of Pollilore

(d) The Battle

of Changanasscry
(d) Coins and sculpture

43 [P.T.O.
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